


Specification / 

BEFORE YOU START
Before building and operating your KIT-ADVANCE FF21 , you must read through all of the assembly instructions of this instruction manual and fully understand 
them to get the maximum enjoyment and prevent unnecessary damage.Read carefully and fully understand the instructions before begin assembling. 
Make sure you review this entire manual. We cannot accept your KIT-ADVANCE FF21 for return or exchange after it has been partially or fully assembled.

KIT-ADVANCE FF21 

3RACING jp@3racing.com.hk (
) http://www.3racing.com.hk

CUSTOMER SUPPORT
We have made every effort to make these instructions as easy to understand as possible. However, if you have any difficulties, problems, or questions, 
please do not hesitate to contact the 3RACING support team at service@3racing.com.hk . Also, please visit our web site at http://www.3racing.com.hk to 
find the latest updates, set up information, option parts,and many other goodies. We pride ourselves on taking excellent care of our customers.

KIT-ADVANCE FF21 3RACING

SAFETY PRECAUTIONS
Please read the instruction manual before building and operating this model and follow all safety precautions. For reference reasons, please keep the 
instruction manual at hand. For provide the maximum performance, we have a full line upgrade parts for our KIT-ADVANCE FF21 . Using any third 
party parts on this model will void guaranty immediately. The buyer expressly agree to indemnify and hold harmless 3RACING for all claims resulting 
directly or indirectly from the purchase, ownership or use of the product. 

Updated Instruction Manual / Set-up Sheet / Set-up Manual / Gear Ratio Chart :
:

http://os.3racing.hkEnglish Version / :

Japanese Version / : http://www.3racing-jp.com

Tool Required /  :

TWEEZERSBODY REAMER

HOBBY KNIFE

1.5mm Hex Wrench
1.5mm  
2.0mm Hex Wrench
2.0mm  
2.5mm Ball Driver Hex Wrench
2.5mm 
4.0mm Phillips Screwdriver
4.0mm  
5.5mm Nut Driver
5.5mm  

Included Items / : Specifications :

Wheel Base/  : 258mm
 

Weight/  : Approx 1157g w/o Body

Overall Height/ 71mm

Overall Length/  : 380mm MAX
 

Overall Width/  : 188mm

CA GLUE
CA

THREAD LOCK

- 2 -

SCISSORS

WIRE CUTTERPLIERS

Contents / 

16 - 17

14 - 15

18 - 19

20 - 21

22 - 23

3

8 - 9

4 - 7

11

12 - 13

10

24

25

26

27

28

36

29 - 31

32 - 35

#5000 Silicone Oil
#5000 

#350 Silicone Oil
#350 



- 3 -

Step 2

Step 3

Step 4

Step 1

Step 5

Watching the Gear Differential Assemble click here



- 4 -

Note : Please repeat steps for Right Side assembly.

Front Suspension Arm / 

Left / 

Rear Suspension Arm / 

Left / 

Note : Please repeat steps for Right Side assembly.

Watching the Front And Rear Suspension Arm Assembly click here



- 5 -

Front / 



- 6 -



- 7 -



- 8 -

Watching the Steering System and Servo Assembly click here



- 9 -

10.0mm



- 10 -

Watching the Front And Rear Bulkhead Installation click here



- 11 -



- 12 -

Front / 

Note : Please repeat steps for Right Side assembly.

Note : Please repeat steps for Right Side assembly.

Watching the Front And Rear Shock Tower Assembly click here



- 13 -



- 14 -

Front / 

0mm

Watching the Front And Rear Stabilizer Assembly click here



- 15 -

Rear / 

0mm



- 16 -

26.75mm

26.75mm

14.2mm

x 2

x 2
14.2mm

Note : Please repeat steps for Right Side assembly.

Note : Please repeat steps for Right Side assembly.

Watching the Front And Rear Knuckle Assembly click here



- 17 -

Left / 

Note : Please repeat steps for Right Side assembly.
:

Rear Knuckle / 

Note : Please repeat steps for Right Side assembly.
:

x 2
13.9mm



- 18 -

#350 Sliicone Oil
#350 

Watching the Oil Damper Assembly click here



- 19 -



- 20 -

Watching the RC Unit Installation click here



- 21 -



- 22 -

Front / 

Watching the Front And Rear Body Post Assembly click here



- 23 -

Rear / 

Note : Please repeat steps for Right Side assembly.
:



- 24 -



- 25 -



- 26 -



- 27 -



- 28 -









3RAC-BS480975/TE   ¥1690
7075 Aluminum 4.8mm Ball Stud 
L=9 (10 pcs) - Teflon Coated 

3RAC-DP09        ¥680
Big bore piston 
1.1 x 4

3RAC-ER2506      ¥150
E-Clip 2.5 x 6 x 0.4
 - 10pcs

3RAC-H2320/BK  ¥760
Sanwa Single Arm 3.0mm V2
(servo gear hole to ball end 
hole length:20mm)- Black 

3RAC-H2520/BK  ¥760
Futaba Single Arm 3.0mm V2
(servo gear hole to ball end 
hole length:20mm)- Black

3RAC-WF315/BK      ¥370
Aluminium M3 Flat Washer 
1.5mm (10 Pcs) - Black

3RAC-WF310/BK      ¥370
Aluminium M3 Flat Washer 
1.0mm (10 Pcs) - Black

3RAC-BE4816/V2     ¥310
4.8mm Ball End Set - 
16mm & 12mm /V2

3RB-6700-ZZ/2       ¥190
Double Metal Shield Bearing 
10 x 15 x 4 mm (2 pcs)

3RB-6700-ZZ/10        ¥750
Double Metal Shield Bearing 
10 x 15 x 4 mm (10 pcs)

3RAC-NI30/BL     ¥200
3.0mm Lock Nuts 
(10pcs) -Black

3RAC-P3              ¥250
P3 O Ring (2.9 X 1.9mm) 
(5pcs) 

3RAC-P5              ¥250
P5 O Ring (4.8 X 1.9mm)
(5pcs) 
P5 O-  (4.8 X 1.9mm)

3RAC-PN2010     ¥150
M2 x 10mm Steel Pin
- 5pcs

3RAC-BS48RO/TE     ¥680
7075 Aluminum 4.8mm Roll 
Bar Ball (4pcs) - Teflon Coated 

3RAC-BS58H4/TE    ¥1530
7075 Aluminum 5.8mm Hex Ball 
Stud H=4 (10 pcs) - Teflon Coated 

3RAC-BS4806/TE    ¥1530
7075 Aluminum 4.8MM Ball Stud 
L=6 (10 pcs) - Teflon Coated

 3RAC-TR332        ¥540
64 Titanium 3mm 
Turnbuckle - 32mm (2 Pcs)
64 3mm

 - 32mm(2pcs)

3RAD-SK10          ¥250
3Racing and Sakura 
Sticker

3RAC-SW03/V2     ¥610
Stainless Steel 3mm Shim Spacer 
0.1/0.15/0.2/0.25/0.3 
Thickness 10pcs each 

3RAC-SW05/V2     ¥610
Stainless Steel 5mm Shim Spacer 
0.1/0.15/0.2/0.25/0.3mm 
Thickness 10pcs Each

3RAC-TE001         ¥310
Super Strong Mounting 
Tape 100 x 25mm (4pcs)

3RAC-TR321         ¥430
64 Titanium 3mm 
Turnbuckle - 21mm (2 Pcs)

3RAC-TR328         ¥430
64 Titanium 3mm 
Turnbuckle - 28mm (2 Pcs)

3RB-MR85-ZZ/W3/10   ¥990
Double Metal Shield Bearing 
5 x 8 x 3mm (10 pcs)

 5 x 8 x 3mm 10

3RAC-WF325/BK      ¥370
Aluminium M3 Flat Washer 
2.5mm (10 Pcs) - Black
M3 x 2.5mm 

( 10Pcs ) - 

3RAC-WF335/BK      ¥370
Aluminium M3 Flat Washer 
3.5mm (10 Pcs) - Black
M3 x 3.5mm 

( 10Pcs ) - 

3RB-MR105ZZ/B3/2    ¥190
Double Metal Shield Bearing 
5 x 10 x 3 mm (2 pcs) 
5 x 10 x 3mm 

(2pcs)

3RB-MR105-ZZ/10      ¥660
Double Metal Shield Bearing 
5 x 10 x 4 mm (10 pcs)
5 x 10 x 4mm 

(10pcs)

3RB-MR105-ZZ/2        ¥160
Double Metal Shield Bearing 
5 x 10 x 4 mm (2 pcs)
5 x 10 x 4mm 

(2pcs) 

SAK-27                  ¥230
Suspension Inner Pin Set 
For 3racing Sakura
3 Sakura

 

3RB-MR105ZZ/B3/10   ¥990
Double Metal Shield Bearing 
5 x 10 x 3 mm (10 pcs)
5 x 10 x 3mm 

(10pcs) 

SAK-28A               ¥340
M3 x 22.9 Suspension 
Outer Pin Set
M3 x 22.9 

SAK-27U               ¥920
Suspension Inner Titanium 
Coated Pin Set 

 

3RAC-WC3/BK    ¥370
Aluminium M3 Countersink 
Washer (10 Pcs) - Black

3RAC-WF305/BK      ¥370
Aluminium M3 Flat Washer 
0.5mm (10 Pcs) - Black 
M3 x 0.5mm 

( 10Pcs ) - 

3RAC-WF330/BK      ¥370
Aluminium M3 Flat Washer 
3.0mm (10 Pcs) - Black
M3 x 3.0mm 

( 10Pcs ) - 

3RB-MR74-ZZ/2        ¥170
Double Metal Shield Bearing 
4 x 7 x 2.5 mm (2 pcs)

3RB-MR74-ZZ/10        ¥680
Double Metal Shield Bearing 
4 x 7 x 2.5 mm (10 pcs)

3RB-MR85-ZZ/W3/2    ¥250
Double Metal Shield Bearing 
5 x 8 x 3mm (2 pcs)

3RAC-BE4816/V3      ¥250
4.8mm Ball Cap Set 
- 16mm_ V3

3RAC-WF320/BK     ¥370
Aluminium M3 Flat Washer 
2.0mm (10 Pcs) - Black



SAK-A518           ¥3390
Ultimate Aluminum 
C Hub

SAK-A538/RE       ¥510
M1.4 x 14 x 20.5_4.75T 
C3.10 (2 pcs)_Red

SAK-A538/PU       ¥510
M1.4 x 14 x 20.5_4.5T 
C3.25 (2 pcs)_Purple

SAK-A538/GR      ¥510
M1.4 x 14 x 20.5_5.25T 
C2.80 (2 pcs)_Green
M1.4 x 14 x 20.5_5.25T 

 (2 ) -  

SAK-A538           ¥3390
M1.4 x 14 x 20.5 
Spring Set

SAK-A538/BK       ¥510
M1.4 x 14 x 20.5_4.25T 
C3.40 (2 pcs)_Black

SAK-A538/BU       ¥510
M1.4 x 14 x 20.5_5.0T 
C2.95 (2 pcs)_Blue

SAK-A538/CL       ¥510
M1.4 x 14 x 20.5_6.5T 
C2.40 (2 pcs)_Clear

SAK-A538/YE       ¥510
M1.4 x 14 x 20.5_5.75T 
C2.70 (2 pcs)_Yellow
KIT-ADVANCE 21

SAK-A546B         ¥1020
Upper Cover For 
SAK-A546
SAK-A546

SAK-A546C        ¥1020
Damper Bottom Cap 
For SAK-A546
SAK-A546

SAK-A564           ¥1690
Aluminium Differential 
Bearing Housing 

SAK-A565             ¥680
Graphite Upper Deck 
Stiffener 1.5mm

1.5mm 

SAK-A538/GY      ¥510
M1.4 x 14 x 20.5_6.25T 
C2.50 (2 pcs)_Grey
M1.4 x 14 x 20.5_6.25T 

 (2 ) - 

SAK-A538/OR      ¥510
M1.4 x 14 x 20.5_5.5T 
C2.75 (2 pcs)_Orange
M1.4 x 14 x 20.5_5.5T 

 (2 ) - 

SAK-A538/WH     ¥510
M1.4 x 14 x 20.5_6.0T 
C2.60 (2 pcs)_White 

SAK-40B               ¥310
Universal Shaft Roller For 
3racing Sakura 
3 Sakura 

 

SAK-42                 ¥310
King Pin Post For 
3racing Sakura
3 Sakura

SAK-50                 ¥760
Body Post & Bumper For 
3racing Sakura
 3 Sakura

&  

SAK-A516           ¥1020
Aluminum Damper Adjust 
Ring & Spring Base Cover 

SAK-A524             ¥510
Front Suspension Arms 
For Advance 2K18

SAK-A525             ¥510
Rear Suspension Arms 
For Advance 2K18

SAK-A529/A         ¥510
Steering Post For 
Advance 2K18 

SAK-A529/B         ¥250
Steering Spacer 
M4 x 5.6 x 1.1 

SAK-A529/C        ¥340
M6 x 5 x 2.8 Nut For 
Advance 2K18

SAK-A529/D        ¥340
4mm Steering Flat Head 
Washer(specially) 

SAK-A530           ¥1690
Bulkhead Cover 
For Advance 2K18
ADVANCE 2K18 EVO

SAK-A534             ¥510
M5 x 7 X 1.5 Brass Spacer 
For Advance 2K18

SAK-A505B         ¥1020
Upper linkage mount for 
Sakura Advance

SAK-A509             ¥850
Stabilizer Locker for 
Sakura Advance

SAK-A515/V2      ¥2540
Aluminum Rear Hub Carrier 
For ADVANCE Ver.2

SAK-A559             ¥510
Differential Bearing 
Housing For Advance 20M

SAK-A557           ¥1020
Twist Bar 20mm For 
Advance 20M

SAK-A546A         ¥1700
Low Profile Bigbore Main 
Body (16mm) For SAK-A546
SAK-A546

16mm

SAK-A541           ¥1350
7075 FR-RF Suspension 
Mount For Advance 20 

SAK-A542           ¥1690
7075 ARS Rear Suspension 
Mount For Advance 20

SAK-A543           ¥1690
7075 Suspension Mount FF 
(45mm) For Advance 20

SAK-A544           ¥1690
7075 Suspension Mount RR 
(43.7mm) For Advance 20

SAK-A545             ¥850
Suspension Mount Nut 
For Advance 20

SAK-A546           ¥4400
Big Bore Aluminum Oil 
Damper Set   

SAK-A548/V2     ¥1350
Front Graphite Shock Tower
For KIT-ADVANCE FF21
KIT-ADVANCE FF21

SAK-A552       ¥1020
7075 Aluminium Steering Link
For KIT-ADVANCE FF21
KIT-ADVANCE 21



SAK-A568           ¥2370
Front Spool Housing For 
KIT-ADVANCE 21M

SAK-A568A        ¥1690
Front Spool Outer Joint 
For KIT-ADVANCE 21M

SAK-A570           ¥1690
One Piece Suspension 
Mount FR for Advance_FR

SAK-A571             ¥680
Graphite Rear 
Suspension Stiffener 

SAK-A575A          ¥680
Lay Shaft Spacer 
M5 x 7 x 0.5mm 

SAK-A580             ¥850
Front Stabilzer 1.2-1.5mm 
For KIT-ADVANCE
KIT-ADVANCE

(1.2-1.5mm)

SAK-A567C          ¥850
Differential Outer Joint 
For KIT-ADVANCE 21M

SAK-A567D          ¥340
Gear Differential Gasket 
For KIT-ADVANCE 21M

SAK-D528/A         ¥510
Battery Stopper 
For D5S
Sakura D5S 

SAK-A581           ¥3050
ARS Active Toe system 
For 

SAK-A581A          ¥850
ARS Graphite Plate 
For 

SAK-D528             ¥510
M5.5 x 5 Hex Post 
For D5S

SAK-U118             ¥230
Rear Suspension 
Outer Pin Set 

 

SAK-U122D_V2    ¥340
4MM Universal Shaft 
Cushion
4MM 

SAK-U130/V2/BK    ¥1020
Wheel Adaptor (4mm) 
- Thick Ver.2

(4mm) - 
(Ver.2) - 

SAK-D4823/BK       ¥2030
Aluminum Upper Bumper 
For D4
SAKURA D4

SAK-F13/HD         ¥459
Rear Outer Shaft 
- Heavy Duty

( )

SAK-F98           ¥1350
Center Pulley set 
For KIT-ADVANCE FF21
KIT-ADVANCE FF21

SAK-A567           ¥2710
38T Gear Differential For 
KIT-ADVANCE 21M
KIT-ADVANCE 21M

38T

SAK-A567B           ¥680
38T Spool Pulley For 
KIT-ADVANCE 21M 
KIT-ADVANCE 21M
38T

SAK-A572           ¥2370
Bulkhead
For KIT-ADVANCE 21
KIT-ADVANCE 21

SAK-A574           ¥1690
Wipers Arms 16.5mm
For KIT-ADVANCE FF21
KIT-ADVANCE FF21
16.5mm 

SAK-A567A          ¥680
38T Gear Diff Housing 
For KIT-ADVANCE 21

SAK-A582             ¥850
Air Flow 40 x 40 
For 

SAK-A583            ¥1690
Aluminum Tranmission Ball 
bearing housing_C_D

SAK-F93              ¥1020
Battery Mount
For KIT-FF20
KIT-FF20

  

 SAK-A580A         ¥850
Rear Stabilzer 1.2-1.5mm 
For KIT-ADVANCE
KIT-ADVANCE

(1.2-1.5mm)

SAK-A580B           ¥680
Stabilzer Ball Cap Set
For KIT-ADVANCE 21
KIT-ADVANCE 21

SAK-F99             ¥5590
Graphite Main Chassis
For KIT-ADVANCE FF21
KIT-ADVANCE FF21

SAK-F98/B            ¥850
Center Shaft
For KIT-ADVANCE FF21
KIT-ADVANCE FF21

SAK-F98/A          ¥1350
Center Gear Adaptor set
For KIT-ADVANCE FF21
KIT-ADVANCE FF21

SAK-F101            ¥1690
Servo Plate Set
For KIT-ADVANCE FF21
KIT-ADVANCE FF21

SAK-F100            ¥3050
Motor Mount
For KIT-ADVANCE FF21
KIT-ADVANCE FF21

SAK-F103            ¥2030
Graphite Upper Deck
For KIT-ADVANCE FF21
KIT-ADVANCE FF21

SAK-F102             ¥760
S3M225  Belt
For KIT-ADVANCE FF21
KIT-ADVANCE FF21

SAK-F79/V2        ¥1190
Metal Differential Gear 
Set (10T&18T)

SAK-F79A             ¥510
Metal Differential Gear 
Set 10T For SAK-F79

SAK-F79B              ¥510
Metal Differential Gear 
Set 18T For SAK-F79

SAK-F107              ¥850
Steering Bridge
For KIT-ADVANCE FF21
KIT-ADVANCE FF21

SAK-F104            ¥1690
Graphite Rear Shock Tower
For KIT-ADVANCE FF21
KIT-ADVANCE FF21

SAK-F105            ¥1350
Graphite Rear T Plate
For KIT-ADVANCE FF21
KIT-ADVANCE FF21

SAK-F106            ¥2030
Front Brass Bumper 43G
For KIT-ADVANCE FF21
KIT-ADVANCE FF21



SAK-U428           ¥2030
43mm Swing Shaft For 
Sakura Ultimate 2014

SAK-U428/A      ¥1020
43mm Swing Shaft 
For SAK-U428

SAK-X20               ¥310
Foam Bumper For 
3racing Sakura XI

SAK-X21/BK          ¥420
Aluminium Axle Pin Holder 
For 3racing Sakura XI

SAK-X27B             ¥760
SSK Outer Joint For 
#SAK-X27

SAK-X27C            ¥620
SSK Join Case For 
#SAK-X27
#SAK-X27

TS-SFS205             ¥200
M2 x 5 Flat Head 
Hex Socket (10pcs)
M2 x 5 

(10 )

ST-025                   ¥610
Tool Set Service Pack 
For 1/10

TS-SBS306             ¥200
M3 x 6 Button Head 
Hex Socket (10pcs)

TS-SBS312             ¥200
M3 x 12 Button Head 
Hex Socket (10pcs) 

TS-SFS207             ¥170
M2 x 7 Flat Head 
Hex Socket (10pcs)
M2 x 7 

(10 )

TS-SFS306             ¥200
M3 x 6 Flat Head 
Hex Socket (10pcs)
M3 x 6 

(10 )

TS-SS3025             ¥250
M3 x 2.5mm Set Screw 
(10pcs)
M3 x 2.5mm  
(10 )

SAK-U314A           ¥460
Damper Plastic 
Replacement 
SAK-U314 

 

SAK-U314D           ¥340
Big Bore Damper Foam 
For #SAK-U314
SAK-U314

SAK-U320             ¥760
Graphite Composite 
C Hub (4 degree) 

SAK-U322/V2       ¥850
Graphite Composite 
Knuckle Ver.2

SAK-X27             ¥2750
SSK Driveshaft For 
Sakura XI
SAKURA XI

SAK-X27A            ¥920
SSK Swing Shaft For 
#SAK-X27
#SAK-X27 

SAK-U314B           ¥460
Damper O RING 
Replacement 

TS-SBS308             ¥200
M3 x 8 Button Head 
Hex Socket (10pcs)

TS-SBS310             ¥200
M3 x 10 Button Head 
Hex Socket (10pcs)

TS-SFS315             ¥200
M3 x 15 Flat Head 
Hex Socket (10pcs)
M3 x 15 

(10 )

SAK-X27D            ¥620
SSK Cross Joint For 
#SAK-X27
#SAK-X27

SAK-XS110C        ¥230
Gear Differential Spacer 
Set For Sakura XI Sport
Sakura XI Sport 

 

TS-SS306               ¥230
M3 x 6mm Set Screw 
(10pcs)
M3 x 6mm  
(10 )

TS-SS304               ¥300
M3 x 4mm Set Screw
(10pcs)
M3 x 4mm 
(10 )

TS-SS303               ¥230
M3 x 3mm Set Screw 
(10pcs)
M3 x 3mm  
(10 )

TS-SS410               ¥340
M4 x 10mm Set Screw 
(10pcs) 
M4 x 10mm 
(10 )

TS-SFS308             ¥200
M3 x 8 Flat Head 
Hex Socket (10pcs)

TS-SFS310             ¥200
M3 x 10 Flat Head 
Hex Socket (10pcs)

TS-SFS312              ¥200
M3 x 12 Flat Head 
Hex Socket (10pcs)



NO. OF 48 PITCH SPUR GEAR NO. OF 64 PITCH SPUR GEAR




